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o FYT T FW A [H F JT-9H 7 GET §O 32 aamr%ss &

Please make sure that the printed pages in this question paper are 32 in number
and it contains 35 questions.
ammu
o f.a

o FoT-7F 7 R &y @ o RF 79 FS T T G H GH TA-YRIH F FE-TF GT
fera

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

. N
o« FYI FIT & GO orgTr & FTT A GEh, T H FAE T ford
- ™

Before beginning to answer a question, its Serial z@zmber must be written.
m

o« Gu-gRaw & &7 7 @it g/ T O

Don’t leave blank page/ pdges in your answer-book.
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y WW%W#@"W&%?@@&% 37T STATEATAIT & @ T frar g g
FI2) ™

LN
Except answer-book, no extra Sh%t will be given. Write to the point and do not

strike the written answer.

o GO ST U7 Fo meT-gx Or s B 9 o & SARTT J97-97 9T 7T FE 7
ford Giiv defeaE g97t & gt av Prdere & BT T T
. [
Candidates must write their Roll No. on the question paper. Except Roll No. do not

. ; , s} -
write anything on question paper and don't make any mark on answers of objective
type questions.

. Wﬂ?#%@ﬁ?éﬁ#ﬁ%ﬁ%ﬁwﬁﬁﬁwvwﬁaw & ghar & GYTT 4
G 4 g 4 arar e 78 frar aram
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.
R
G e
(i) F97-95 F F7 35 497 &1
(i) G T S &
(iti) T8 FoT-9F i @Sl 7 f%wﬁma FUE-, T, T, G-7 T FvE-7

(iv) GUE-&7 ¥ 373TE (1-18) 7@‘#@‘,@? & JoF J97 1 37 # &

(v) @UE-F 7 @7 (19-25) d7fay %??zr 797 & JOF o7 2 STH W &

(vi) GUE-F 7 W (26-30) T FTNT 5797 &1 JAF J97 3 1 F 81

(i) G- 7 @ (31 T32) B HeqTT JHT & Jo7 81 A% 597 4 STl a7 &
(viii) @7&-7 T @7 (33-35) & TTHIT 797 & TA%F FeT 5 HH H &l
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(3) 1230/(Set : B)
(ix) gs7 73 § FE T &7 § FE AHeT T8 & ﬁa@*@vg—aﬁa?w#% qug-7 4 a

o 7 GE-g 7 @ ged 7 qur @v5-g § dayed 7 eare [ ke W@ 2 &
o gt 7 @ 9% B OF & 597 FA 8l o

1)
N
, an
() F TTE F FET AT &
General Instructions :
(i There are 35 questions in all.
N
(i) All questions are compulsory. fao)
g
5 . 5)
(iii) This question paper is divided into five Sectﬁgfgls :A, B, C, Dand E.

N
(iv) Section-A consist of eighteen (1-18) obj@ctive type questions, each of

23l

‘1 mark.

(v) Section-B consist of seven (19-25) very short answer type questions, each of

2 marks.

(vi) Section-C consist of five (26-30) short answer type questions, each of
3 marks.

(vii) Section-D consist of two (31 & 32) cas%\losmdy type questions, each of

~
4 marks. ™M
{ N
N
(viii) Section-E consist of three (33-35) long Bhswer type questions, each of
5 marks.
1230/(Set: B) RO,
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(ix) There is no overall choice,, However an internal choice has been provided in

Section-B two questions, @ection-C two questions, Section-D both questions

and Section-E all three questions. You have to attempt only one of the given

choices'in such questions.,

e

[ e

(x) Use of calculator is not' permitted.

[ ]
N
]
gug -

SECTION-A

[ TET 59 ]

[ Objective Type Questions ]

h‘;aa."-
e

ok
jii

Rt qgRwehT 7o % T8 Rwey gy -

Select the correct option of the following multiple choice questions :

1.@%%%%%@%%%%%@%%%%? 1
Ly
(A) NHj W (B) N
L _
(C) Ho Y (D) CoHs

The gas evolved when methyl amine reacts with nitrous acid is :

(A) NH3

) He

1230/(Set : B)

(B) N
(D) C2He
25
iy
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1

(5)
2. PR s B Ea & TORT $ S G ©

2537182

(A) ¥ Reris @ A TF RET A9 W @ B A
(B) %Wﬁmawwwaﬂmﬁc\?
(C) THUE F FHET § §
D) T % A i

Activation energy of a chemical reaction can be determined by :

(A) determining the rate constant at standard temperature

(B) determining the rate constant at two temperatures

(C) determining probability of collision

(D) wusing catalyst

3. Bt & A 9 e oufen weRkia 78 ¥

(B) @—CHO

(C) HCHO

>
2 2
O
B253782

(D) CHsCHO

1230/(Set : B) P. T..O.
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Cannizaro's reaction is not given by :

CH> N

0

o G B
(A

N
(C) HCHO m
(D) CH3CHO
Q]
4. 3d0 qg Ao ¥ KMo, TeRmm offems @ R aRafia s ' 7 1
' (48]
' (A) I, . @ IO
. m
(C) 103 (D) IO;
i,
-’f" !..

When alkaline KMnO, is treated with KI, iodide ion is oxidized to :

R B) IO
(5 M o~ D) I0;
5. Pl & 3 T o ol A 8 7 1
(A) SIS TohiEd N
(B) HrEeRieaaTa %
© B ' P
(D) maﬁ'ﬁ'ﬂﬁﬂﬁ

1230/(Set: B) %
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[~
Which of the following is mogtacidic ?
(™
(A) Benzyl alcohol M

(B) Cyclohexanol -
00

(C) Phenol 1;‘_')

0

(D) m-Chlorophenol ‘[;%

| fred &9 MU CFSE aT<whe® [CoClg)*~ # MU 18,000 cml ¥, @ wgeheid fFeea
8% [CoCl, |*~ @& forg & &rm ? 1

(A) 18,000 cm-!

(B) 16,000 cm-!

e
i
e

(C) 8,000 cm!

(D) 20,000 cm!

The CFSE for octahedral [CoClg |*~ is 18,000 cm-l. The CFSE for tetrahedral

" [CoCl, > will be : s
I""s
(A) 18,000 cm-! :}?;
™
0
(B) 16,000 cm-! i
(C) 8,000 cm-
(D) 20,000 crm-!
1230/(Set : B) gﬁjﬂ P.T. 0.
’._
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7. SO (1) FRES H IuRaR § fegd, e @ o awe ol gur W e A

T B, g8 it § N 1
O

(A) EETH BEE affer m
L)

(B) SRR SRR e S
(C) NI ufeeemas iR
(D) T anreT STffssar

Toluene reacts with a halogen incghe presence of iron (III) chloride giving ortho
0

and para halo compounds, the re%tion 15

L)
(A) Electrophillic elimination rea%ion

(B) Electrophillic substitution reaction
(C) Nucleophillic substitution reaction

(D) Nucleophiliic addition reaction

8. omm@aﬁamq%gamﬁo.oimMgcb-ﬁaﬁw%ﬁi‘ﬁﬂmﬂm: 1
(A) QEB%H%W g
(B) I W ﬁ
(C) & TOm ErT i
(D) = M &

1230/(Set : B) Eﬁ
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In comparison to a 0.01 M solution Of@ucose, the depression in the freezing

point of 0.01 M MgCl; solution is : {R
cd
(A) remains same m

(B) about twice
(C) about three times

(D) about four times

253782

m
9. GﬁfmA+QB—>C%ﬁm,a’T=K[A][B]%IBﬁmﬂvﬁmq‘{ﬂwm]ﬁm
T @Y W, 37 ReRi® | 1 e g8 ? 1

(A) R @
(B) I &N

wfi-% 4

(C) =X IO B

(D) ofer @ S

Rate law for the rteaction A 4 2B —»'C is found to be Rate = K[A] [B].

Concentration of reactant B is doubled keeping the concentration of A constant,

(&N

the value of rate constant will be : o0
i~

(48]

(A) the same e
o™

(B) doubled M

(C) | quadroupled

(D) halved

1230/(Set : B) g T.0:

i
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(10) 1230/(Set : B)
10. WEHTge & AT PiH-a1 sl s A § ? "

(A)  +2 (B) +3
QN
<] +4 - (D) +5 ~
ol
kgl

Which of the following oxidation state is comlgpn for all lanthanoids ?

(A)  +2 (B) +3
(C) +4 (D) +5 &
- [
-
11. s 9 Ciem o s A1 & s 2w 1

(A) WEIH BRI GhEe

(B) fbmget ergei
(C) Wi Hfegs=
(D) CKERGIEE

The reagent which does not react with both acetone and benzaldehyde :

(A) NaHSOs i
cC
(B) Phenyl hydrazine | ?}

ij
(C) Fehling solution C&:

(D) Tollen's reagent
. 1230/(Set : B)
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1z:ﬁﬁﬁmﬁ(&ﬂwrm7 1

B253782

() AT 9 B T @

() R T

B253782

(D) %ﬁm%ﬁ?{m%

The value of Henry's constant Ky :
(A) Increases with increase in temperature

(B) Decreases with increase in temperature

(C) Remains constant

(D) First increases, then decreases

13. Tt & & -1 B-we fefe e 07 & dafea R o e ¥ 7 1
: oo}
(A) fefE B, e
Lo
(B) e B, ?:1’
(C) Faf= Bs
(D) faef™ Bis

1230/(Set : B) e | P.T.O.
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Y
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Which of the following B-Group vitamin can be stored in our body ?

(A) Vitamin B;

™
Q0
(B) Vitamin Bs ”
Q]
N
(C) Vitamin Bsg M
(D) Vitamin B2
14. A& I & A e §F & GHF B HI €, O 1
| A) Eee =0 w
(A) Exq = g_
LN
(B) Eir > Eug 0
.;.-ul'..
(C) Eam > Egy
(D) Ex = Eam

An electrochémical cell can behave like an electrolytic cell, when :
[A) Ecen = 0

(B) Ece]l > Eext

B253782

(C) Eext > Ecen

(D) Ecell = Eext

1230/(Set : B)
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(13) 1230/(Set : B)
go7 @ 15 @ 18 & [y & 37 &y 70 & : oifwmeT [ A ] 79 B[ R ], FEA B 9GH
#2 k% 7@ @S (A), (B), (C), (D) 7 & e 7T e} Gy g7 -

For Question Numbers 15 to 18 given below cc:i{i:fsists of two statements labelled as
ki
Assertion [ A | and Reason [ R |. Read the statements and select the most appropriate

answer from the Codes (A), (B), (C), (D) :

15. ARG [A] : MXo T MXsL G S8l X T L) UHREQL ROFe 8, SOy dameaad e
[
CEIIH

h ;
et
£
i)

%
Y AL
e e
il
ik

FRO [R] : APAG EEgaar I AR § T awid Sl e SudeddeT ge

6 2l
H : 1
(A) [A] @ [R] &FF §F ¥ X [R], [A] ﬂﬁwgmqr £
(B) [A) Fo [R] 3T & g, dfte [R], [A] @ 1:!%] e TE B
(©) [A] 9 ¥, 3T [R] T B iu;
(D) [A] e B, A [R] & B
1230/(Set : B) P.T.O.
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|
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(14) 1230/(Set : B)
Assertion [A] : Complexeg of MXs and MXsL type [X and L are unidentate| do
not show g}eometrical isomerism.
Reason [R] : Gcometrica]%isomerism is not shown by the complexes of

coordination number 6.

Code :

782

(A) Both [A] and [R] are E}'%le and [R] is the correct explanation of [A].

N
m
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].

(C) [A]is true, but [R] is false.

(D) [A]is false, but [R] is true.

e
16. W[A]:Www%mﬁﬁm%mﬁwwmﬁﬂwﬁm%:

RI> RBr> RCl> RF

Wlkltww,‘wm,wwm@ww,ww
aﬁas@ﬁﬁa}mam%

e o~ . 1
(A) [A] T [R] Al T %‘%'{ [R], [A] @I Hel e 2l

(B) [A] T [R] Al T %gﬁﬁﬁ [R], [A] I & e el ®l

(©) [A] @ ¥, qfET [R] T 2

(D) [A] T ¥ W [R] F B

155

Download from www.MsEducationTv.com
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Assertion [A] : The boiling point of alkyl halides decreases in the order

LN
RI> RBr> RCl> RF for sfiﬁi’nc alkyl group.

™
Reason [R]: The boiling point of alkytﬂlalidc having chloride, bromide and
iodides are higher than tHat of the hydrocarbon of comparable

molecular mass.

Code :

(A) Both [A] and [R] are true and [R] is th& correct explanation of [A].
5 X

(B) Both [A] and [R] are true, but [R] is n@g the correct explanation of [A].
)
(C) [A]is true, but [R] is false. &‘11 _

(D) [A] is false, but [R] is true.

7. W[A]:ﬁﬁﬁ-@aﬁswwﬁﬂﬂmﬂ%t
FT [R] : 36 sp? HHRT P WA Bl & |
#e : ;

(A) [A] T [R] A9 @ § &R [R], [A] & el A Bl

(B) [A] T [R] 3Ff & §, QA [R], [A] ﬂ?@‘é’l e e B

M
(C) [A] & B, @f [R] Tad Bl g
)

(D) [A] TR §, dfFT [R) & R

1230/(Set : B) P.T.O.
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Assertion [A] : Formaldehy% is a planar molecule.

~~
™

Reason [R] : It contains spﬂnybridized carbon atom.
m

Code :
N

(A) Both [A] and [R] are tng?e? and [R] is the correct explanation of [A].
m .
n

(B) Both [A] and [R] are tn% but [R] is not the correct explanation of [A].
(C) [A]is truc, but [R] is false.

(D) [A] is falsc, but [R] is true.

18. ¥ [A] : 5 NaCl & g § feman o @, df fewies & o ofaww 3@ S &1

T [R] : Bl S % a7 o 7 9 @3 & o A o a ¥

7 x 1
(A) [A]W[R]ﬁﬂﬂ%a?gm],m]aﬁa@am%n

(B) [A] T [R] ﬁw@,@%ﬂm, [A] P TE e T B

(©) [A] &4 &, R [R] W%]l

(D) [A] &G 8, A [R] §F B

1230/(Set : B)

Download from www.MsEducationTv.com (% Scanned with OKEN Scanner



(17) 1230/(Set : B)
N , ; G
Assertion [A] : When NaCl is added to watey, a depression in freezing point 1s
r-u.
) ™
observed. O
N

Reason [R] : The lowering of vapour pressE@re of a solution causes depression

in the freezing point.

Code :

3782

LO ;
(A) Both [A] and [R] are true and [R] is the eqrrect explanation of [A].

B

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A]is true, but [R] is false.

(D) [A] is falsc, but [R] is true.

o

gvg - §
SECTION-B
[ STy ST U |
2 ™
[ Very Short Answer Typ@r@uestions ]
™
o)
19. fy= gl & TUPAC 7 fafag : cﬂ\l; 2
()  [Co(NH;3)sCOs]Cl
(i) ~K3[Fe(Cy04)s)
1230/(Set : B) | P.T.0.
kT
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Write the IUPAC name of the follor\\adfing coordination compounds :

(4 8
() [Co(NH3)sCO3]CI o
(K@)
(i) K3[Fe(Cy04)] >
20. 7 8T B, 99 ¢ 2

(a) =6 $oR A Ul H ARG e i arfufea Sifeam A R 7
(b) TR S H AR SWE KOH & Bt B 7
o

i
What happens, when : Zj)

¢y .
(a) Methyl bromide is treated witih sodium in the presence of dry ether ?

(b) Ethyl chloride is treated with aqueous KOH ?

21. ERY B & a0 § SO OH WiE 98 SRR SR 3 9R 39 ahe s
g7 2

Explain how does OH group attached to a carbon of benzene ring activate it
towards electrophillic substitution reaction.

T
OR
e orfefhanall & ST St HESTgH FEY 5
OCoH5 ] um.)
(i) + HBr - o

(i) (CHs)3C~OC,Hs +HI -

1230/(Set : B)
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(19) 1230/(Set : B)
Estimate the products obtainc:@ from the following reactions :
™
OCyHs )
(i) + HBr - b
(i) (CH3)3C-OC,Hg+ HI—
N
, 0
02. Fr= FRBFT § A G B # EE N 2
¥p)
Cre / HCI NaNOq + HClI
Give the structure of A and B in the following reaction :
C6H5N02 Fe | HCl s A NaNQOq +HCI
273K
23. il tdem A & g & di-a1 A SN2 e dear & 3 ? 2
CH3
I
() CH3CH, (le— CH; 6/9qT CHj- Cl? —Br
oo
rh
m ;
(i) CH, - CH - CH, - CH,Br (W% CH,-CH, - CH - CH, Br
| m |
CH, _ CH,
1230/(Set : B) ; 210,
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1230/(Set : B)

Which alkyl halide from the following pair would you expect to react morc

rapidly by SN? mechanism ?

(|3H3 o
(o n]

(I) CH3CH2 CI"H_CHS or CH:}—CI:‘-—JB};J‘
Br CH; &

[QN|

a g

(i) CHy - CH -CH, ~CH, Br or CHy~CH, - CH~CH, Br

CH, CH,

24. WE B HLEAT G fgeliebeor 1 @ g ey & 7
[~

What is the effect of denaturation on theystructure of proteins ?

N

25. R — P ik & fow o & gizar 0.03 M & 25 f\e § qiafdd 8t 0.02 M &

St 1 efr|d 3 o e 3@ # #ifi

2

For the reaction R — P the concentration of a reactant changes from 0.03 M to

0.02 M in 25 minutes. Calculate the average rate of reaction using units of time

in minutes.
YT

N
O
™

S0,Cl, ﬁﬂﬁﬂﬁﬁﬁﬁﬁﬁ%ﬁﬂ%ﬁ?ﬁﬁﬁ?ﬁﬁ&ﬁﬂz?ﬂ%ﬁ%ﬂﬁ

aftfrar gug @ife @ &, a3 Rexis @ o i

1230/(Set : B) | Eﬁﬁ
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(21) 1230/(Set : B)
Time required to decompose SO,Cl; to half of its initial amount is 60 minutes. If

the decomposition is a first order reaction, then calculate the rate constant of

~N
the reaction. g
a0
K P]
N
m @-Ug = H
SECTION -C
[ @Y ST e ]
[ Short Answer Type Questions ]
w .
rh.
26. e & faures St @ ¥ 7 {Ruewd @ ¥ 4w B OAdS G A, B AT B
TR X H Fraffa fear st g7 3
e r..

What is crystal field splitting energy ? How does the magnitude of A, decide the

actual configuration of d orbital in a coordination entity having d* configuration.

R El

OR
N

£ o :
oey frsia & omaR R Pl SweeddsT war § omdy @ gk @ fRde
FHif =]

.

EE] 3
() [Fe(CN)]*

(i) [CoFs]®~

1230/(Set : B)

% P.T.O.
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Discuss the nature of bOﬂdin@n the following coordination entities on the basis

of Valence Bond Theory : EI\JJ
(i) [Fe(CN)s]*
(i) [CoFy]*" ;‘9
"
27. (i) &ﬁ%ﬂqukbﬁmﬁwmﬂwﬁmmﬁaﬂ%? 1
(i) AT FEE A 2-BFEUEE ¥ ol #tw 1
(iil) St T F FEE Jaas TS S e 9 e § 7 1

(i)  Pkb of aniline is more than that of methylamine, why ?

(i) Convert Benzyl chloride into 2-phenylethanamine.

i

(i11) Why do primary amines have higher boiling point than tertiary amines ?

e
OR
(i) 99 UHES % IUPAC M ffffu s 2w sdse oiiviihar e oeedis 3ar 21 4
[~ .
(i) ﬁwﬁ@aﬁrwﬂﬁw%%ﬁmﬁw: o 1
CqHsNH,, NHj, CQiNHQ, (CoHs)y NH

(i) Y g AT § e & e g e adeer dimg ’

1230/(Set : B)

kil - :
i

SRS
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Write the TUPAC name of the amide that gives propanamine by Hoffmann's

(1)

bromamide reaction.

(i) Arrange the f’ollowin@in the increasing order of basic strength :
[“\
CeHsNH,, NHyCoHsNH,, (C,Hs), NH
(@

(i) Give one chemical test to distinguish between aniline and benzylamine.
28. f=ifefad aRed=t & f5e g Bean o w3 7
™
() SOF-2-off & g P

l""‘-r

)

(i) q?r#fa?rz,4,6quﬂqﬁﬂ‘ia
o
(i) wHE q dfafeese

Convert :
() Propan-2-ol into Propene
(i) Phenol into 2, 4, 6-trinitrophenol

(iii) Phenol into Salicylaldehyde

29, @ﬁm%mﬁﬁqﬁaﬁﬁgﬁ99°/oawﬁri?l?m3?féﬁﬁamwgo%eﬁﬁmwaﬁ
A TR A wE Y g A | 2
L

For the first order reacti% show that the time required for 99% completion of

. first order reaction is twice the time required for the completion of 90%.

5

Download from www.MsEducationTv.com (% Scanned with OKEN Scanner
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(24) o x -
3o,mm%wammmwﬁwﬂ@@ﬁwaiiif” el Hed
ST 7 e ¥ R T 2

(QN

Explain the variation of molar conductivity of ™ strong electrolyte and weak

electrolyte with concentration through graph.
gvg - g

SECTION-D 3

[ Case Study Type Questions ]

=T %G1 (31 q 32) % &I7YTE HeqTT BHw T IIP A Ry 7@ g9 (i-iii) # GHT
giroray

Study the following cases (31 & 32) carefully and answer the questions (i-iii) that
follow : '

31.WﬁmﬁmmmmWﬁmmﬁmmm|
W%ﬁww,m@@mﬁaﬂ%eﬂﬁﬁmﬁmﬁz%ﬁﬂ%m
Wamﬁaamﬁmmmgw;w,m@am
m.mmmmwmmwmﬁ%%mﬁ%ﬁmm

wE qgdd 2 -
M
97 :
(i) Wmazﬁrwmﬂ%ﬁhi’rﬁﬁﬁ%ﬂs@fsﬁﬁfﬁaﬁw%? ’
1230/(Set : B) R
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(i) F-A SEOFES B Sgett A WA A 8, Wy qef F AE 7 1
(ii) a-D@ﬂaﬂaﬁmﬁ@aﬂml _ 2
™
?3 arerd
TERSE 7 ® 7 g wR § e uen R g 7 2

. Monosaccharides are simple carbohydrates that can't be broken further into
smaller units on hydrolysis. For example Glucose, Fructose Ribose etc. Oligo-
saccharides arc the carbohydrates which on hydrolysis give two to ten units of
monosaccharides eg. Sucrose, Maltose, Lactose etc. Polysaccharides produce

large number of monosac%arides units on hydrolysis eg. starch cellulose.

[“w-

estions : ™M
Qu e

(i Name the linkage th%holds the two units in the disaccharide.

(i) Which disaccharide is found only in animals, not in plants ?

(iiiy Draw Haworth projection of a-D Glucose.
OR

What is (}lycogen ? How it is different from Starch ?

32. FIUTTY Rl & Wegd § A Gigar a9 99 ¥ ST GEd a9 9 3 Qs & §aE
e s § foee ¥ Rags @ Y9 B IUEI HEl S 8 GERel B G @l A 0@
& TBR B o T O e AR THH HEA Bl SR B Sl ofERer & A a R
ST el ¥ O SEAE H O HCL § SR Iq Sl 31 a6l Bl S
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The spontaneous flow of the solvent through a semipermeable membrane from a
pure solvent to a solution or from a dilute solution to a concentrated solution is
called as osmosis. The phenomenon of osmosis can be demonstrated by taking
two eggs of the same size. In an egg the membrane below the shell and around
the egg material is semipermeable. The outer hard shell can be removed by
putting the egg in dilute hydrochloric acid. Aft% removing the hard shell, one
egg is placed in distilled water and the other 1ng saturated salt solution. After
some time, the egg placed in distilled water swell%Jp while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is termed as
osmotic pressure. Reverse osmosis takes place when the applied external

pressure becomes larger than the osmotic pressure.

b
1
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Questions :

() What happens when RBC's are placed &0.9% NaCl solution ?
['\-\

(i) Which one of the following has highenfsmotic pressure : 1M KCl or 1 M
N
Urea ? M

(iif) What is Reverse Osmosis ? Name one SPM which can be used in this

TEVErsSe 0SIMOosis.

OR

3782

How the molecular mass of substanceﬁ:an be determined by the method

; M
based on measurement of osmotic pressure ?

avE - 7
SECTION - E
'[i‘.‘réaﬁﬁq S |

[ Long Answer Type Questions ]

33, (i) Wu@aﬁﬁwm%wwﬁc@ﬁ%? 1
(i) Wwﬁwmmaw@ﬁmhﬁm%? 1
(m)ﬁmﬁmﬁKzCrzovﬁWef%f?ﬂiﬁaqﬁwa@@aﬁm 3
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(i) Why transition elements have the high m’éﬂ’xalpy of atomization :

B2

(i) Why highest oxidation state is exhibited in oxoanions of a metal ?

(iii) Indicate the steps in the preparation of K,Cr,O7 from the chromite ore.

HIAT

B253782

OR

(i) AT G Wi, o ot & ofufEwr 3R e § 7 39 Sk 3 fg
st gt faRau 1

() FR D R E (M2 | M) B OHE 4 (0.34 V) ¥, 30 GIed HROT #4187 1

AR R

(i) Freffes & g & oMge W@ QReAES 3 WRM B g @i R,
SRR ST T GRAvAIg T STt TR | & 3

(i How does acidified permanganate solution react with oxalic acid ? Write

ionic equation for this reaction. g

™
o

(ii) Why E"(I\/I2+ | M) value of copper is the péé;lsitive value (0.34 V) ?
m

(iiiy Compare Lanthanoids and Actinoids with special reference to electronic

configuration, oxidation state and atomic and ionic size.

1230/(Set : B) ﬁ
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34-wmﬁmaﬁmmﬂwgmoﬁ%gwowpwm%E"f@ﬂeﬁﬁzﬁﬁ
WW%WWMH%WWW%L 2w
STE-PIaIfRe T ST B1 AN B UeHI g9 [UPAC A1 fafaw) eifwfar & g
s’lﬁaﬁﬁwﬂﬂwﬁzﬁaﬁfﬁ(ﬂﬁﬂ%%@% 5

™
An organic compound with moleculﬁ% formula CyH,,0 forms 2, 4-DNP. Derivative
(
reduces Tollen's reagent and u%ergoes Cannizaro reaction. On vigorous
oxidation, it gives 1, 2 benzene dicarboxylic acid. Identify the organic compound.

Write its IUPAC name. Write all chemical equations involved in reaction.

ar

OR

LR
=

() = afifer & Sae @ g e _ 1
2+
CH3—CECH—T;LI;—86:+
(ii) WA iR i HeE SR 1
foss |
(i) FEETEE ¥ & NH, T A & TG I @ NH, W & e e
S A 3, e 7 m -

(iv) Fr=feeaa difet & HON & afy affrashiorar & e g & exafed #iv 1
i*éi%ﬁ‘@,zsg, Ve, SETIFE-FRT Fem
(v) TR GO 9% O aRie ool R - 1
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() Write the structure of product of the fol%pwing reaction :

H\%*
CH3 -C= CH—}?%@T
a ]

(i) Draw the structure of : Cyclo-propanone Oxime.

(il There are two NH, groups in Semicarbazide, but only one is involved in

semicarbazone formation, why ? %d
IN . .
(iv) Arrange the following compounds iq‘}gthe increasing order of reactivity
o
towards HCN : a8

Acetaldehyde,/Acetone, Ditertbutyl Ketone.

i

-

(v) Write a short note on '‘Aldol Condensation'.

35. (i) W%ﬁz%xmﬁ‘emﬂm%@u@emfaﬁmz 3

- Mg (s)|Mg**(0.001M || Cu?*(0.0001M)| Cu(s)

By 2ty =—2-37V )
['N.,
Ej2+ic, =0.34V m
- N
e |
(i) foet foerae 1 Tcedr aqar & @Y R et ¥ 7 2
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os)
, ~~ . il .
()  Write the Nernst equation and caleulate the emf of the following cell at
)
298 K o

Mg (s)|Mg?* (0.001M || Cu?*(0.0001M)| Cu(s)

N

e8]

[} P — E“‘
EMg‘g'}[Mg =-2.37V o)
L

pCu:O'34V o

E
M

Cu2 5

(i) Why does the conductivity of a solution decreases with dilution.

(i) F=faiga efvfear at I 8@ & 99 A9 fwe oiehe S st 3 R
A,G° B AT Y FiT 3

2Cr(s)+3Cd** (aq) - 2Cr®* (aq) + 3Cd(s)

N
. i
E} 34 6,=—0.74V B
o =) -
Ecg2+)cq=—0-40V &5}
(i) IS B AT R 2 ? IV I BT W F 2

1 : i
230/(Set : B) % P.T O
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(i Calculate the standard cell potential of galvanic cell in which the following

ee .
reaction takes place. A!sd;c;alculatc the value of A,G" of the reaction :
L)

2Cr(s) +3Cd?* (aq) —pHCr®* (aq) + 3Cd(s)

ECI"S } \Cr = "074 |74
ECd;Z; |Cd: —O4OV

(i) Define Kohlrausch's law by taking suitable example.

B25378

.
b
e

womy

B253782
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